EARAROBEEIERT — 2 N— IBISH —F

20135118140 (K) 17EIEMH3A

S C2- Y7R3WE

(xwlw | lmEmml - |5 @) o 8

[AE£] 1 7% :250,000 @ ~ 23%&:45,000 3% :22,500 W  43%&:12,500 @ 53 :7,500 0

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TEE :29. ~6-1- . - BAEE (F)
1 3|/ 7= 3 o 1(2_9)6 6-6-1-1 | 38.2 1 fzs) sl
L:7V%tx B:FvFv)—/ BRES 455
— F Sy — 4 3 | ALEFEGA 1:31.6 2-2-2-2 |40.5| — 2 447 | FEZ (FEH)
2 4| 7T1—T =~ 54.0 (24 4%) (-3) | FEELE
RikTA X B:IUEELT ITEILTRZIA b
: S 44 | BEHME 1:32.2 4-4-5-4 | 40.9| — 5 461 | RFIZE(E (ER)
3011 |7—IVEAF KX 56.0 (31/2) (1) | RIS
LT RIAYRY BARIN—F I EH =B
3 2 4 5 | BAREE 1:32.4 7-7-8-8 | 40.0| — 6 445 | BRSPS (EM)
4|55 |3IAXA7BUTZR 54.0 A 1/2) 1) | &) K=2T5T
R:x>770-UF72 B:VNIRLAT YT BAR 5
= 7 . #o7 | SllEE— 1:33.0 5-5-7-7 | 41.0| — 10 | 431 |3RFABC (FEhR)
517|771 L70—-> 56.0 (3 1/2) o |BEHEZ
Z:aY—F B:d-iFivv— FAKIS
- Mz 86— _ ®RFER (EH
slzle | 7979 ruT0 4 3 56.04 1(.13/32.)1 8-8-6-6 | 41.0 3 (4_855) e (Eem)
R BATATv— B:2yFIx—d—-IK HET77—L4
B 4 | ALRE 1:33.5 9-9-9-9 [40.9| — 4 460 | #iBEA (ER)
7lglo|FVEI1Yya g 56.0 2 1/2) (-11) | ) A—23
LiFUEELFa)— BiFURLFIN—Y TE %A
S 4 3 | WWAHX 1:33. 10-10-10-10| 40.7 | — 8 449 | EHES (EB)
g6 SvIEX 2 (7€) (3 | B Tr—xhEva
RTHAFUDv—Ib B hYIAILRA PN ¢
S s o6 | Bl 1:33.6 3-3-4-5 |42.3| — 9 481 | EEIIFEA (EB)
9|8|10| ¥ ¥ IAYIIL 56.0 (7€) (s | RIS
RNSEAZRIY = BiHIUF o Wt A
Pl = jt 8 | AfEts 1:33.9 1-1-3-3 | 42.8| — 7 429 | MG (i)
EH 2 | 7UEXIR A52.0 (1 1/2) (-4) | MR
R:iZa—A2F52 K BiFULILE— wER B
® 1—F—@EBIERL
1T=7r= 2,4,10,1,7,3,5,8,9,6
23— — 2,4,10,1,7,3,5,8,9,6
Ja=5= 3,4,2,10,1,8,7,5,9,6
40—F— 3,4,2,1,10,8,7,5,9,6
[ N5
BB 3 1408 | | 74 K 3-4 120/ | | # & 3-4 190 | | 3ER 1-3-4 4,740M
B B 3 1004 =8 850M B = 3-4 190H JEE 3-4-1 12,050M
4 120 1-4 1,330H B H 3-4 350M
1 320M

ABICOVWTRDTEEERROODE. TR LIV,




